
L3(4).22 (mod 2)

blocks defect matrix

41.G : 1 9 28× 4
2 3 5× 1

121.G : 3 8 26× 5

42.G : 1 9 41× 4
2 3 8× 1

122.G : 3 8 28× 5

Block 1: ϕ1,0 ϕ2+ ϕ4,0 ϕ5,0

11 = χ1,0 1 . . .
12 = χ1,1 1 . . .
201 = χ2,0 2 . 1 1
202 = χ2,1 2 . 1 1
351 = χ3,0 1 1 1 1
352 = χ3,1 1 1 1 1
701 = χ4+ 2 2 2 2
451 = χ6,0 2 1 2 1
452 = χ6,1 2 1 2 1
453 = χ7,0 2 1 1 2
454 = χ7,1 2 1 1 2
1261 = χ8+ 6 3 4 4

101 = χ11,0 1 . 1 .
102 = χ11,1 1 . 1 .
103 = χ12,0 1 . . 1
104 = χ12,1 1 . . 1
561 = χ13+ 4 1 2 2
361 = χ15,0 2 1 1 1
362 = χ15,1 2 1 1 1
702 = χ17,0 2 2 2 2
703 = χ17,1 2 2 2 2
901 = χ18,0 4 2 3 3
902 = χ18,1 4 2 3 3

161 = χ19+ . 1 . .
162 = χ20+ . 1 . .
1121 = χ21+ 8 2 4 4
1601 = χ23+ 6 4 6 4
1602 = χ24+ 6 4 4 6

ϕ1,0 = 11
ϕ2+ = 161
ϕ4,0 = 91
ϕ5,0 = 92



Block 2: ϕ6,0

641 = χ10,0 1
642 = χ10,1 1

643 = χ16,0 1
644 = χ16,1 1

1281 = χ22+ 2

ϕ6,0 = 641

Block 3: ϕ7+ ϕ8+ ϕ9+ ϕ10+ ϕ11+

301 = χ32+ 1 1 1 . .
302 = χ33+ 1 1 1 . .
303 = χ34+ 1 1 1 . .
421 = χ35+ 2 2 1 . .
903 = χ36+ 2 2 1 1 .
904 = χ37+ 2 2 1 . 1
1262 = χ38+ 4 3 2 . 1
1263 = χ39+ 3 4 2 1 .
1681 = χ40+ 3 3 2 1 1

121 = χ41+ 1 1 . . .
721 = χ42+ 3 3 2 . .
841 = χ43+ 1 2 1 1 .
842 = χ44+ 2 1 1 . 1
1201 = χ45+ 3 3 2 . 1
1202 = χ46+ 3 3 2 1 .
1801 = χ47+ 4 4 2 1 1

481 = χ48+ . . . 1 .
482 = χ48∗29+ . . . 1 .

483 = χ49+ . . . . 1
484 = χ49∗29+ . . . . 1

961 = χ50+ 3 2 1 . 1
962 = χ50∗41+ 2 3 1 1 .
963 = χ50∗31+ 3 2 1 . 1

964 = χ51+ 2 3 1 1 .
2401 = χ52+ 6 6 4 1 1

2402 = χ52∗5+ 6 6 4 1 1

ϕ7+ = 61
ϕ8+ = 62
ϕ9+ = 181
ϕ10+ = 481
ϕ11+ = 482



Block 1: ϕ1,0 ϕ2+ ϕ4,0 ϕ5,0

11 = χ1,0 1 . . .
12 = χ1,1 1 . . .
201 = χ2,0 2 . 1 1
202 = χ2,1 2 . 1 1
351 = χ3,0 1 1 1 1
352 = χ3,1 1 1 1 1
701 = χ4+ 2 2 2 2
451 = χ6,0 2 1 2 1
452 = χ6,1 2 1 2 1
453 = χ7,0 2 1 1 2
454 = χ7,1 2 1 1 2
1261 = χ8+ 6 3 4 4

101 = χ11,0 1 . 1 .
102 = χ11,1 1 . 1 .
103 = χ12,0 1 . . 1
104 = χ12,1 1 . . 1
561 = χ13+ 4 1 2 2
361 = χ15,0 2 1 1 1
362 = χ15,1 2 1 1 1
702 = χ17,0 2 2 2 2
703 = χ17,1 2 2 2 2
901 = χ18,0 4 2 3 3
902 = χ18,1 4 2 3 3

203 = χ25,0 2 . 1 1
204 = χ25,1 2 . 1 1
205 = χ∗3

25,0 2 . 1 1
206 = χ∗3

25,1 2 . 1 1
562 = χ26+ 4 1 2 2

563 = χ26∗11+ 4 1 2 2
363 = χ28,0 2 1 1 1
364 = χ28,1 2 1 1 1
365 = χ∗3

28,0 2 1 1 1
366 = χ∗3

28,1 2 1 1 1
801 = χ30,0 3 2 3 2
802 = χ30,1 3 2 3 2
803 = χ∗15

30,0 3 2 3 2
804 = χ∗15

30,1 3 2 3 2
805 = χ31,0 3 2 2 3
806 = χ31,1 3 2 2 3
807 = χ∗15

31,0 3 2 2 3



(Block 1:) ϕ1,0 ϕ2+ ϕ4,0 ϕ5,0

808 = χ∗15
31,1 3 2 2 3

ϕ1,0 = 11
ϕ2+ = 161
ϕ4,0 = 91
ϕ5,0 = 92

Block 2: ϕ6,0

641 = χ10,0 1
642 = χ10,1 1

643 = χ16,0 1
644 = χ16,1 1

645 = χ29,0 1
646 = χ29,1 1
647 = χ∗3

29,0 1
648 = χ∗3

29,1 1

ϕ6,0 = 641



Block 3: ϕ7+ ϕ8+ ϕ9+ ϕ10+ ϕ11+

301 = χ32+ 1 1 1 . .
302 = χ33+ 1 1 1 . .
303 = χ34+ 1 1 1 . .
421 = χ35+ 2 2 1 . .
903 = χ36+ 2 2 1 1 .
904 = χ37+ 2 2 1 . 1

1262 = χ38+ 4 3 2 . 1
1263 = χ39+ 3 4 2 1 .
1681 = χ40+ 3 3 2 1 1

121 = χ41+ 1 1 . . .
721 = χ42+ 3 3 2 . .
841 = χ43+ 1 2 1 1 .
842 = χ44+ 2 1 1 . 1

1201 = χ45+ 3 3 2 . 1
1202 = χ46+ 3 3 2 1 .
1801 = χ47+ 4 4 2 1 1

722 = χ53+ 3 3 2 . .
723 = χ53∗7+ 3 3 2 . .
961 = χ54+ 3 2 1 . 1
962 = χ55+ 2 3 1 1 .

963 = χ54∗31+ 3 2 1 . 1
964 = χ54∗11+ 2 3 1 1 .
1203 = χ56+ 3 3 2 . 1

1204 = χ56∗43+ 3 3 2 . 1
1205 = χ57+ 3 3 2 1 .

1206 = χ57∗43+ 3 3 2 1 .
1682 = χ58+ 3 3 2 1 1

1683 = χ58∗7+ 3 3 2 1 1

ϕ7+ = 61
ϕ8+ = 62
ϕ9+ = 181
ϕ10+ = 481
ϕ11+ = 482


